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1. Which food item was associated with the 1857 Revolt?
(A) Poori (B) Dosa

(C) Parotta \V Chapati

1857 sewszGam® Ggm_myenw 2 eweys Qummer 6rg)?
A yf (B) Gsrens
(C) uGpmliim (D)  sounss

2. Who depicted the Indian National Congress as ‘Microscopic Minority Organisation’?
(A) Lord Canning W Lord Dufferin
(C) Lord Linlithglow (D) Lord Minto

@pdu Caélu armdlren Wseab Al HApyuraren Sewliy erenmy sSadlweur wri?

(A)  sreflis Gy B) cuflerdpy
(©C) ellemellgCan Sy D) WbewCGm Gy
3. What is the minimum reserve system of RBI?

(A) ¥ 300 crores, of which atleast ¥ 200 crores should be in gold
(B) ¥ 500 crores, of which atleast ¥ 300 crores in gold
(C) T 700 crores, of which atleast T 400 crores in gold

‘M ¥ 200 crores, of which atleast ¥ 115 crores in gold

@pdw Aareu curdlulien GennpHsuL& esudlpliL eremen?

(A)  epumi 300 Gamg eupdle GenmpsuLs grumis 200 Camg. sRiswLTE
(B)  emumis 500 CGamg eupiler @eappsuLgb erumi 300 Camg. shiswrs
(C)  emumi 700 Camg sicupdler GammpsuLsb mumi 400 Gamg. grswrs
D)  mumis 200 Gamg. sieupdle) GpBSULSD mHuml 115 Camg. shswons
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When was the Industrial Development Bank of India was started in India?

(A) 1965 : (B) 1963

‘[ 1964 (D) 1966

@pdureile @b Aamfled euariésl cumdl eriGurg Qam_misiu L g?
(A) 1965 (B) 1963
(C) 1964 (D) 1966

In India First Industrial Policy was announced in the year

A) 1947 0/ 1948

(C) 1970 (D) 1977

- @pdwureile apsd Qemifle Cararens Siflefldaliu L syer®
(A) 1947 ' (B) 1948
(C) 1970 (D) 1977

National Policy on Skill Development was formulated by the
(A) Ministry of Human Resource development

M Ministry of Labour and Employment
(C)  Ministry of Finance
(D)  Ministry of Commerce and Industry

Spen Cobum_gparer Caslw Qararamsami 2 (Heunsdi DFFHD
(A)  waflgeuar Cubum () Sewéssbd

(B) Qpn@wumr’r wpmid CauamaeaumiiL HennFssD

C) Hé sewsssd

(D)  aigssd wHmb QsTHd SewsssDd
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7. If the diameter of sphere is doubled, the increase in its surface area will be

(A)  100% B) 200%

& 300% D) 400%

@ Canarsglen ol L_b @ wrsrdlpg erafld sisen UpLuriiy assmen sgeSsid 2iFla &b ?

(A) 100% (B) 200%
(C)  300% (D) 400%
8. A sum of money at compound interest doubles itself in 15 years. It will become eight times

of itself in

(A) 60 years (B) 54 years

(C) 48 years M 45 years

P Asraswurens s Beanly dfssHad 15 ar@sais 2 wLRG Rdpg eaefld assamen

e (Hsafler 250s5Tms 8 L_fisTEbh?
(A) 60 aumLriiser | B) 54 aumrser

(€C) 48 ayprrmuser (D) 45 aumLrasen

9. ‘The smallest 3-digit prime number is

M 101 ®) 107
(©)

109 (D) 113

ey Qess WssAHlw LsT erer erg)?

| @) 101 (B) 107
© 109 D) 113
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10.  Simplify :

(147 + L] —(147 - Ll =
42 42

A 7 (B)

(©) 147 W 14

ot

H(HE(G) -
2 2
(147+i) -[147-i) =
iy 42 42
(A) T (B) 5
(C) 147 (D) 14

11 IfA:B=4:6, B:C=18:5 then the ratioof A: B:C is
(A) 11:12:18 B) 12:18:7

y 12:18:5 (D) 18:5:7

A:B=4:6, B:C=18:5 aafl® A: B:C ssnen cilélgd
(A) 11:12:18 (B) 12:18:7
(C) 12:18:56 (D) 18:5:7

12, Simplify: (V2 +1)° + (V2 -1)°
(A) 5242 (ﬁ) 5042
©) 562 S 5842

swies: (V2 +1)" +(VZ2-1)
(A  52/2 B) 5042
(€) 5642 (D) 582
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13. The surface area of a cube is 96 em2. Find its volume

(A) 16 cm? (B) 48 ecm?

y 64 cm? (D) 27 cmd

@ s sgirsHlen Qevafliumiy 96 #0585 erafla SEN D CTEL &HITEHT?
(A) 16 &.Qs.8 (B) 485.Qs.85

(C) 645Qs.85 D) 27&0s.8

14. A sum of Rs. 12,000 deposited at compound interest becomes double after 5 years. After
20 years, it will becomes
M Rs. 1,92,000 (B) Rs. 1,20,000
Rs. 1,24,000 (D) Rs. 60,000
Sl () auliguie wge® Qe g 12,000 Qsrenswiteng mBsmD cumL wpyefldr Elar(d
wLBETs Hng erafle, 2ibs Qgrans 20-1b QUL piy.efled ereucuarey A& &G LD.
(A) e 1,92,000 (B) @ 1,20,000
(C) . 1,24,000 (D)  ¢m. 60,000
15. Kamal invested Rs. 3,000 to a 1 year at 7% per annum. Find the simple interest and the
amount received by him at the end of one year.
W 2103210 (B) 200, 3200
(C) 180, 3180 (D) 260, 3260
SO0 @ HamgHE 7% el aissHed m.3,000 Cafsdpm. @rran(® pgeiler e Qumind sefl
QUL g eniu|id, Qgmenseniib sireirs.
(A) 210, 3210 (B) 200, 3200
(C) 180, 3180 (D) 260, 3260
® 7 MAGS/2018
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16. The difference between 78% of a number and 59% of the same number is 323. What is 62%
of that number?

(A) 1037 \m( 1054
(D)

(C) 1159 1178

@ GHOOL eramenflen 78% wpmid S59%&EES Gen_Cuwren elsHursd 323 aafld 2ACs cresenflen
62% samen AL eTeueuaT|D? -

(A) 1037 (B) 1054
(C) 1159 (D) 1178

17.  Calculate the area of a quadrant of a circle of radius 21 cm?
J 346.5 em*® (B) 322.7 cm*
(C) 308.8 cm? (D) 288.7 cm?

21 Q&.18 yraperer sraaul LU uGH6 LTLiLETE, ST,
(A) 346.5 s @s.5 (B) 322.7 #.@s.8
(C) 308.85.Qs.5 (D) 288.7 5.05.5

18.  Volume of a hemisphere is 19404 Cu cm. It's radius is
(A) _10.5cm (B) 17.5cm

'Mﬂcm (D) 42cm

sesCanasfen sansiera) 19404 Cu cm arafld sigan YLD GTEmen?
(A) 105cm (B) 17.5cm
(C) 2lcm (D) 42cm

19.  Simplify: 81 +3216 +¥/32 =2

A) 10 a’ 1

© 9 ‘D) 4

smées: Y81 +3216 +§32 =2

(A) 10 @B) 11
© 9 D) 4
MAGS/2018 8



Which of the following enjoys the Constitutional Status?

Finance Commission
Niti Aayog
" Zonal Council
National Development Council
Election Commission
U.G.C

A) 1,3and5 \ﬂ(mnds
. (D)

(C) 1,2, 5and6 1,3, 5and 6

DU AW

E\pasetr_aumdled BTy oy luea e raene
1. ff gyeeamun

2. Hd oCwns.

3.  GorsHu senus

4.  Gzélw euer#s wenmid

5

6

Caige yenammud
wy. g8
A 1,3 wpmb 5 (B) 1wpmd 5
© 1,2 5wppn 6 (D) 1,3,5whgnd 6

Andaman and Nicobar Islands is under the Territorial Jurisdiction of which High Court
(A)  Delhi High Court

(B)  Port Blair High Court

(C)  Madras High Court

\gy' Calcutta High Court

2ipgwnet ppib HECaruni Seyser erbs fHoem sifam aomuse 2L g
(A)  Queved o wiHwenmid

(B)  CGumi 9Cer 2 wirfHioenmid

(C) Qeemenen 2 wifHiwenmid

D)  sasssm 2 wibSHoamid
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22. Match the following and choose the correct answer :

Name the Committee Recommendation
(a) Balwant Rai Mehta Committee 1 Two tier system
(b) Santhanam Committee 2. BDO spinalcord of system
(¢) Ashok Mehta Committee 3. Financial independence
(d) GVK Rao Committee 4. Three tier system
d (a) (b) (c) (d)
Ml 3 1 2
B) 1 2 3 1
(©) 3 2 1 4

O 1 3 4

o

Spasar_cupern Qurmpsd sflurer el apgs

GW ufipgieny
(a) wdeupsTmMl GLEST G 1. @ren(® 0ESG e
(b) shsTENDd G 2. el Ly auetiés sigieuait (pslusgiaud
() =Cars Cugam GW 3. 8 szpdnbd
(d.) GVK greu @ 4. apenm HES penD

(a) (b) (©) (d)

A 4 3 1 2
B) 1 2 3 4
€ 3 2 1 4
D) 1 3 4 2
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23.

24.

Assertion (A)
and IPS.
Reason (R)

The Rajamannar Committee recommended the abolition of the IAS

The IAS and IPS violate the principles of federalism and Ministerial

responsibility at the State level.
M Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C)  (A) 1s true but (R) is false
(D)  (A) s false but (R) is true

sapml (A)

argeed (R)

prggwenerit G IAS wpmb IPS g flwaupeny puilds' ufibgimrsss.
IAS wpgw IPS g dlueme wrfla sereflarear semwésTaa QurpiiL i,

wHPID sal L m_ S Aanareanseanwl LBpeuSTELD.
(A) (A wimb (R) @rer(hid &f (R) eremuigy (A)eflen sflwimen aflenéainm@n
B) (A vppbd (R) Greawr®b &l (R) eramugy (A)ellen sflwuren eflarésid oiden

(©) (A w @b sf(R) seupm@En
(D)  (A) saum (R) sflwneio

With reference to the constitution of India, Which one of the following pair is not correctly

matched?

Subject
(A) Forests
W Stock Exchange
(C) Post office saving Bank
(D)  Public Health and Sanitation

List
Concurrent list
Concurrent list
Union list
State list

@pHwu sirflueemolifeniy. Spssar_aupile ez sflwurer GQenar dawing?

Son
(A) euenmiser
(B) uni@ssphens
(C) sure gleop Cadlli eurd)
(D) Qung sargmb wHMID CrrESub

Ui uen

Qurgiuiguié
Quirgiuiguwie
WSS guie

orBless L iguied

MAGS/2018
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26.

27.

Akbar’s land revenue system was known as
(A) Todarmal’s revenue ‘ \{Zabti system

(C) Bandobast system (D) Rayadhwari system

2suffien fle eugmeumis L b ereueumy BenpaaiiLC L g
(A)  (Huriwmed eugpwreDd (B) sudldl b

(C)  wmem_unev b (D)  pwuggeurfl S o

NSC refers to
\V National Statistical Commission

(B) National Security Council
(C) National Service Commission

(D) National Savings Commission

NSC - eramugy

A)  Gadlw yereflullwe Gup
(B) Cpélw ungiamins G
(C) Cpélu CGraneus Gy
D) Cpélw Cafliys Gw

Which of the following Buddhist universities was the last one to be founded in India?
(A) Nalanda University (B) Taxila University
(C) Nagarjunakonda University M Vikramasila University

@ifureller 2 dran Lss LasmEsPaRsllD semLSluna Corppelssiiul L LUDSHVESPED
(A)  preTBET LOSMWEHPELD (B) Laflarudsmaéspshd

(C)  prammen LIOSED0EHLPSLD (D) dlagwdan UOSMESPED

MAGS/2018 ' 12




28. Which organ growth requires thyroid hormone?

Heart (B) Lungs

(A)
W Brain (D) Kidney

s 2L 2 minden cueriédlé@ engrmi® anmiGoren CameauiuBHns)
A) Qmswd (B) meyuyed
(C)  epemer (D) &yfrand

29. During DNA replication, the Okazaki fragments on the lagging strand and joined together

by
M DNA ligase (B) DNA polymerase
(C) Primase (D) Helicase

g7 @rigSsedlen Gung gasTél giamHamar Geraren_ey Qenpu|L e BerarraEib QBrd
(A)  ig.eren.q.eNlGaev (B) .erarg umeGoGren
(C) GenrGiosv (D) QanelGaen

30. Red data book contains data of
(A) All plant species
(B)  All animal species

(C) Economically important species

M Threatened endangered species

“Qre. GLLLT Lbsss56 2 drer efleurmiser
(A) @ sTeuT QRIS

(B) ooasg dleodambsar
(©) * Qurmemgny fFHwns péELsgieud Miibs 2 uSlflger

D)  ePuyb Peauiigidrer Siumusy Flaw 2 udflemaisar

® 13 MAGS/2018
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31.  If a tea leaves are kept in hot water for longer time, the liquid becomes bitter because
(A) _The volatile oil in the leaves dissolves out
The tannin dissolves out
(C)  The thein dissolves out
(D) Of the defect in the tea leaves

Caullenawreng Aardaan Bl SH&CHrd evcugdmhgne ssis sarewew Qups styemd
(A)  eflunsssagu ererrGleammis Baauilsdmbg Ceaupiila samrausme

(B) . Graflern (Lraflen) QeusFfe seanyeugme .
(©)  Sfen QeupBfiler senyeugmed

(D) @eoaular @®pun(® sryemmons

. 32. Hydrolysis of proteins give
a—amino acids only (B) f—amino acids only

(C)  y-—amino acids only (D) mixture of all

yrghseer Srmpu@s@h Guig SenLiLig

(A) a - fCem syfleid wi_Hid (B) f - ofGam Sifleib ol [Hib
©)  7-28Cam siflemiser L [Hib D) seasg abCam syfaised
33. Nuclei acids are high molecular weight polymers containing

(A)  Phosphate group
(B)  Pentose sugar + Phosphate group
(C)  Heterocyclic Base + Pentose sugar
w Phosphate group + Pentose sugar + Heterocyclic Base

Blydefls suflwnser sremp oifls apadsay e Qaner. Ll 2 drereane 1
(A urevGul QsrEd 8

(B)  QuenGLnev sidsany + umevGui AELCE

(©C) udelen cuenamnu smyb + QuenGL me TS

(D) uravCul AsnEd + QuenGLev sidseny + Lidelar auenery &MIJLD

MAGS/2018 14




34. In which place did the Indian costal Guard conduct the Regional level Marine oil pollution
Response exercise name ‘clean-sea-2017"7

Andaman and Nicobar Islands (B) Daman and Diu
(C) Goa (D) Lakshadweep

@idw sL_Cany sraudumL abs s Wrmhlusda aanbermi wrsubBgme FHES FHSTEN SO
2017 eremp Lulpaslenu Qaiigss?

(A spsoren HlECsmumi (B) Lmoen e enLwy
(C) Cameun (D) eolss80

35. Who was the Prime Minister of UK in 20177
M Theresa May (B) David Cameron
(C)  Philip Hammond (D) Boris Johnson

2017 gyib syenmige pédlu prguid (UK) eflen Gpgwom wri?
(A) Qggan Cw (B) Cusfll Gaiogmen
(C) Sa96fls emib@inmesar (D) Curflev gremaen

36.  Where is the strongest muscle of the human body located?

M Jaw (B) Nose

(C) Ear (D) Neck

wefls 2L efle cugieunan s GTI\';J@G?I'GT@?.
(A) sren (B) wés
©) &g D)  &swsas

37. When the Universal social Bus iUSB) was invented?
(A) 1990 ' (B) 1994

7 199 (D) 1998

o fleog Agriun_eL (USB) eriCGung samr®lly el Lg?
(A) 1990 (B) 1994
(C) 1996 (D) 1998

® 15 MAGS/2018
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38. When did Thiru O. Panner Selvam take charge first time as a chief minister of Tamilnadu?

(A) 21 August 2001

\g( 21 September 2001

(C) 21 October 2001
(D) 23 September 2001

Bwp. O. uenafit Qacweaud euiser psean apapwns erL@urs) sWBIPs wadeurts QurmiiGupmmT?
(A) 21 gyaavl 2001

(B) 21 @&l ibuir 2001

(C) 21 =&CLmui 2001

(D) 23 Qedbui 2001

39. In which position, the India’s largest Bank, the state owned SBI ranks among the top 100
Global banks?

(A) 5 B) 75

95 -
N g D) 45

o eaameilu fpss 100 cndlsafler Gpfluneen Wlas Apps cumdwurer urgs G aumd abg

Hlenculleéh o ememgy?
(A) 95 (B) 75
(C) 55 (D) 45

40. In which state Mahabodhi Temple complex at Bodh Gaya was located?

M Bihar (B) West Bengal

(C) Chandigarh (D) Rajasthan

L& swreile o drar wCaprCurdl syewb senwpgerer wrBlab erg?

(A)  Samr (B) Cup@E eumusrend
(C) seangsmi (D) pmggevgmen
MAGS/2018 16 )




41.

43.

\

Which year 1* Newspaper was from Bombay (Now Mumbai)?
(A) 1780 (B) 1785

(©) 1786 _ P 1789

umbGu (spGung e )uild Qmbg wae Qaufssrear Qeuataubs <yar® org)?
(A) 1780 (B) 1785
(C) 1786 (D) 1789

is the storage form of carbohydrate in plants and comprises the primary
source of energy in the diet.

Starch (B) Glucose
(C) Glycogen (D) Cellulose

sraugrsailey Cafldsliudsagw smiCurean Crlorseyd, oeawalld <ypoedlear  apsenanio
2HTIOTEaD eflenhGeug)

(A)  evmiaE (B)  ©EsGarev

(C) AeenCamgen s (D) QedgCamav

In which game Ms. Manu Bhaker secure gold medal in Junior world cup during the year

. March 2018?
10 Meter Air Pistol

(B) 100 Meter Air Pistol
(C) 50 Meter Air Pistol
(D) 20 Meter Air Pistol

wrid 2018 b yew® peoGupp greflur 2 essCsmieu Gumiguid wey ursi ebHs
efflenemuim_ig 6 HhisD Qeuemmi?

(A) 10 BLiegrGave Gfiay

(B) 100 B i g Seve Gfley

(C) 50 B gi Geved Gfley

(D) 20 B gi Qe Gfley

17 MAGS/2018
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44. Which of the following instrument is used to find the depth of Ocean?
(A) Galvanometer
(B) Fluxmeter

(C) Endoscope

\y Fathometer

ECy Qan®ssu_Pearereupile Guphis_olen odmg jarell LiweuHib smell 67g)?
(A) ameveuen B L
(B) Jaarden Bl
(C) eanGLreGan

(D)  JwnCGsmbloi

45.  Out galaxy is called Milky way. Which is our nearest galaxy?

(A) Ganny Meda

M Andro Meda

(C)  Sirius

(D) Proxima Centauri

plogl flemben weam_ab WadGa aamapsstiu@ing. pwae s s mdlgierer eflamben weam b

Grement?

(A) saafl@wCl
(B) ey QoG
(C)  Aflwev

(D)  Qgrafonr Ces@Beuf

MAGS/2018 18




46.

48.

Sturzstrom is associated with

(A) Avalanches (B) Cyclone

(C)  Anti cyclone Mandslide

euL_fre_Gpmib eremiig) @sayLen CsmiLienL1wig?
(A)  uwelluurenp Ffeyser (B) @mreuafl

(C) adlit @oreuat (D) Hessfleay

Which of the following colour rays has the highest wavelength?

(A) Yellow rays \M Red rays

(C) Green rays (D) Blue rays

Spssam_supmier creucuament pefléadlit Har simaBand Qenerg?
(A)  DEpFET CuERTERTLD: . (B) &leuliy cuatrentid

(C) u&ans cuewTeRTLD (D) e euamrenrid

Instrument used for measuring wind speed is

“(A)  Thermo meter . (B) Baro meter

M Anemo meter (D) Seismo meter

srphlen Coussams eralfl LweUBHLD &med
(A)  QsrGom S (B) wunCGom S i
(C) eflGuom Bt (D) &evCuom B
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49. Netaji Subhash Chandra Bose organised the Indian National Army in
(A) Berlin (B) Tokyo

M Singapore (D) Rangoon

Crargd aunev shdlrCumen @B Cadlw @rramieull LienL_enwl i@ o (heunddlenmi?

(A) Quiredlen (B) CLradfCGuwin
(C) Ay (D) prusaen
50. Who was the Governor-General when Indian National Congress founded?
(A) Lord Elgin (B) Lord Ripon
W’ Lord Dufferin (D) Lord Lytton

@pdw Caélw srdlyev Bipeuiiul L Curg Seawento By EHBITS @) (HHSeUT WmiT?

(A)  eregden Gy (B) Mouen Qpy
(©) wrluflen Sy (D) &l e 9y
51. When was the British Government announced the Partition of Bengal?
@ 20t July 1905 (B) 21+ July 1905
(C) 220 July 1905, (D) 23 July 1905

ghdle 2rs cumsl Gfallasnanw eriGumips) oidleildsg ?

(A) 1905 geenew 20 (B) 1905 grena 21
(C) 1905 grene 22 “(D) 1905 grena 23
52. When was the Chauri Chaura incident occurred?
(A) 4% February 1922 5t February 1922
(C) 6 February 1922 (D) 7 February 1922

Qaearfl Geenyr Hlapey erii@umepg peoGQubma:?

(A) 1922 Qigeufl 4 (B) 1922 Supeud 5
(©) 1922 Gureuf 6 (D) 1922 Siugeufl 7
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53.

55.

The Vice Chairman of NITI Aayog is

(A)  Mr. Aravind Panagariya M\/Ir Rajiv Kumar
(C)  Mr. Bimal Jalan ( Mr. Y.V. Reddy
HE <Cunsdlen samems senaeui

(A) Mr. @qr,raﬁl;juméemﬂu.m ‘ (B) Mr. mrgdlel @mir
(C)  Mr. Swé gemren (D) Mr. Y.V.Qplyg

Which one of the following is a basic characteristics of Indian Economy?
(A)  High standard of living of the a\/erage Indians

M Unequal distribution of income and wealth
(C)  Absence of capital formation

(D)  Low density of population

Wemeumauameupmyer @pdlwis QurmensmysSer SlgrueL Qudyseia genmy eg)?
(A)  syrafl @pduitsaflen o wihs aumpsmad smb

B)  aumwrend LHmb Qsdeas Ldield swflancuienenio

(C) wpasear yssiberemn

D)  Gopaurar wisaQsras SiLiss

Credit creation is the function of
(A) Reserve Bank of India %ommercial Banks
(C)  Monetary Authority of India (D) Government of India

SL6I 2 (HeUNEELD CTemLg) Wr(HenL i Lienfl?
A)  @sdw fMeireu auridlufen Liesf (B) euefls cumidlaafien Lief
©) @pdw uewr HircunssSenfler Lianf D) @B spsrisser Liasf
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H6. The Zamindari settlements were of two types namely
% Permanent settlement and temporary settlement
(B) Total settlement and part settlement
(C) Immediate settlement and late settlement

(D)  Direct settlement and indirect settlement

gbargril Qs_yabwean(® e Qe () euensLILIHID, Seauae
(A)  Hopsr whpb spHsnals Qe iyo @ e

(B) Quris wHmb LiGH Ga iy aoGna

(C) o emgwns wHmb srasmos @aiiq.a6oem

(D)  Coig wpmd wepaps Gy abiner .

h7. Which of the following proposition is tautology?
A (pve=q B) pvig=p
y pv(p=q) D) p=2(p=9q

GemeumHid sambld eTg) 2 @Ta@Lowirans)?
(A (pvq)=q (B) pvig=p)

©) pvp=q D) p=>pE=29q)

ma + ne

58. Ifa:b=c:d then is equal to

mb+ nd

(A) m:n (B) dm:cn

(C) an:mb : M a:b

a:b=c:d aaflé® M&@ swiomen el & e1g?
mb + nd
(A) m:n (B) dm:cn
(C) an:mb (D) a:b
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59.

60.

G1.

m

What is the probability of more than 4 when a dice is thrown?

2 2 : 1

1 1

C — D) =
© = ®) <

@0 usmL 2 (HL LuGid Curg 4h@E Com dlen Lz @ eremen Hlapsse?

(A) (B)

(C) (D)

D= W
LN vV [

Two series are given below the specific pattern.

T 15 31 63 127 2925
4 (@) () @ @ (e

What will come in the place of (d)?

7 AT , (B) 92

€. 174 (D) 66

&Gy AarHastiu L, @Blind 2 gflaemLen amiq B)m Asmisafa (d)-en wdlliL| sneawrs.

7 15 31 63 127 225
4 (a B © @ (o
@& 79 B) 92
(C) 74 (D) 66

Find the number which is 15% less than 240
(A) 220 (B) 200

© 215 . P 204

240g el 15% @enpeuren crawmenenté srais,
(A) 220 (B) 200
(©) 215 (D) 204

23
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62. If the total surface area of a solid semi sphere is 675 7 sq.cm, then its curved surface area is
(A) 243 7 sq.cm (B) 340 7 sq.cm
y 450 r sq.cm (D) 240 7 sq.cm

e Heaimo seratareangdlen @rssu umriugiy 6757 &.0a8 arafle, Sigen euenatuiiiLy erenLig)
(A) 243 7 sQab (B) 340 7 #G@&b
(C) 450 7 sQ&b (D) 240 r 5Q@&b

63.  The fourth proportional to 5, 8, 15 is
(A) 18 (B)

2
© 21 JT U

5, 18, 15en deug elflgsang seim® Gy
(A) 18 (B) 20
C) 21 (Dy 24

64. An almirah is sold at Rs. 5,225 after allowing a discount of 5%. Find its marked price.
(A)  Rs. 5,000 I Rs. 5,500

(C) Rs. 6,500 (D) Rs. 5,575

S siownfl 5% sarenunda m.5225 /- &6 Apaiuddpg aaild, sigan @hlés clama eramen?
(A) Rs. 5,000 : (B) Rs. 5,500
(C) Rs. 6,500 (D) Rs. 5,575

65. A car covers a distance of 432 km at the speed of 48 km/hr. In how many hours will the car
cover this distance?

(A) 6 hours (B) 7 hours

\V 9 hours (D) 12 hours

smyneng 432 ACor By sLEs wallsg 48 HCar BLLiT Caussda Qsadlpg. SHTEDS
S@LaIsHE S D H5E Qamanend weaufl GHID ereuaene,)?

(A) 6 weflCrybd (B) 7 wefiGryd
(©) 9 weflCrybd (D) 12 wefCpywn
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66.

67.

68.

Ifx+l=3 then x5+—15— is equal to
x

>
w(. 123 (B) 83
(©)

92 D)y 112

1 5 L
x+;=3 erafled x +?5- &(8 SIS

(A) 123 (B) 83
(C) 92 (D) 112

Ifa:b=2:3 and b:c=5:7 thenfind a:b:c.

21:15:10 (B) 15:10:21

(A)
M10:15:21 (M) 21:10:15

a:b=2:3 wppd b:c=5:7 aafléd a:b:c-en iy sraws.
(A) 21:15:10 (B) 15:10:21
(C) 10:15:21 (D) 21:10:15

A distance is covered in 3 hours 48 m at 5 kmph. How much time will be taken to cover it at
28.5 kmph?
40 min (B) 20 min
(C) 30 min (D) 38 min
@@ wallgen 5 kmph Gaussdd GHUAL gmsms 3 wenfl 48 HLAl_Ho s_sdprer. SiHs weflgen
=G5 gsams 28.5 kmph Caisgdld sL_liugH@ ereuaiare) GHTD HEGWD?
(A) 40 Hudlid (B) 20 fldliid
(C©) 30 fuflib (D) 38 flflib
25 _ MAGS/2018
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69. Who said that preamble is the ‘horoscope of our sovereign democratic republic’?

- (A)  Sir Alladi Krishnaswami Iver (B) Dr. B.R. Ambedkar
W K.M. Munshi (D) M. Hidayatullah

‘sl erenLgl @eanmenowinar inssermlé @ g wraen SNGEHONGD aren saBlweurt wmi?

(A) & @@mg Smapamems gpui (B) vrmécri8 gi onbCugsit
(C) Cas.end. apenadl (D) enb. aflgwgeen
70.  The constitution of India was drafted by , that started working on

December 9, 1946
(A)  Directly elected constituent assembly
W Indirectly elected constitutional assembly
(C)  Both directly and indirectly elected, constituent assembly

(D)  Council of Governor — General of India

igaour 9, 1946 b en® @pdlu Srflwd Sewiieou ummumn Qe
ueflenws gieuddlig.

(&) Comguwns Cairey Qaiuiing L sisannliy) siena (=) Sirdueenioliy fHliTewTiL FenLL
(B)  wepapsions Caitay Aaluniul L orsmbliy sene

©) Grrguwrsad whmb wenpapsonsan Geie Gauwutiul L syFennliL] eme

(D)  seuienit - Qggenyed @(Lp

71. How many times, the President’s rule was imposed in Tamilnadu?

A) 2 (B) 3

W D) 5

S18lpas e G uragsamoali o 8 (e ahsmen 2|0OUBSSIIC_([HeTarg?

A 2 B) 3
C) 4 (D) 5
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o

Central Viéilance Commission was set up on the recommendation of
(A)  Administrative Reforms Commission of India
(B)  Gorwala Report
(C)  Kripalani Committee
y Santhanam Committee

LSS 2anped HHUIL peneTLILD eLEEL) ufipgieny Ceiizs
B @pfu Hirauns S mis e

(B)  Carieureor =yflsens

(C)  dmunafief G

(D) spgremd Gup

73. In which case, the Supreme Court laid down a new doctrine of the ‘basic structure’ of the
Constitution?
w Kesavananda Bharati Case (B) Golaknath Case
(C)  Minerva Mills Case (D) Waman Rao Case

g aupddle) 2 sefdlwanmid, QAL Sirfluweblifer “Sig it sLLewuL” e Qasmdrams

LU GEHug
(A)  Gssananps umyd aiss (B) Canadapns eupés
(C) Berieur Wdev QULDEE : (D) sumoenr greu QULPEE
74. Which one of the following is a non-communal Political Party?
(A)  Shiromani Akali Dal (B) Shiv. Sena
P Asom Gana Parishad (D) Muslim League

Eipaaem_euible 618 QUGLIL| FTTTS SITHLich s Swn@b?
(A)  ACymoenfl 2i&ned gamd (B) #Sleu Gaenm
(C) =Csmb sen uflagg (D)  @peavediv ofs

® ‘ 27 MAGS/2018
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75.  Match List I and List I (Establishment of Lokayuktha in states)

List I (States) List II (created in)
(a) Rajasthan Hin 1985
(b) Assam 2. 1973
(¢) Uttar Pradesh 3. 1981
(d) Madhya Pradesh 4. 1970
5. 1975
Codes : ‘

(A 1 2 3 5
T2 1 5 3
© 5 3 5 1
D) 1 4 3 2
u g T wopmid urwe IT Qurmsgs : (wrnflomssfie Gaoré ;ﬂ,u.u'sgn SDOEHHD)
ulgwen I (orBlerigar) uiguwied IT (e meurésid)
(a) pmggeugmTe 1. 1986
(b) =evevmd 2. 1973
() =sHniGyCaen 3. 1981
(d wsHud GrGssid 4. 1970
5. 1975
@duiaer :

(a) (b) (c) (d)

A 1 2 3 5
B 2 1 5 3
(C) 5 3 2 1
D) 1 4 3 2
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76. Which Viceroy convened The Simla Conference in 19457
(A)  Lord Linlithgow Lord Willingdon
(C) Lord Mounbatten M Lord Wavell

1945 b sy Abeom OIBIL L Sal g WU Wri?

(A)  ArdsCar Gy (B) QeusliiusLen Gy
(C)  weayenGuien Gy (D) Ceuwed Ay
77. Choose the correct answer :

Nana Saheb was the adopted son of whom?

M Peshwa Baji Rao I1

Balaji Baji Rao
(C) Bahadur shah
(D) Jansi Rani Lakshmi Bai

sflwmer eflen_ &ma :

e sndll wrmen_w S5& G 6renen?
(A)  CGuegeur Gyewr_mb Limgdymeu
(B)  urerg urgdymrey '

(C)  usgiiragr

D) gmrenflyrenfl eegLdlumi

78. Which of the following metal were not used by the Harappans?
(A) Copper and Iron (B) Gold and Silver
\V Iron and Tin (D) Silver and Bronze

anTUIUT &E&ET 6ThS 2 Carsgag Lwaru Hsseldamean?
(A) - smfyd wHmd @) miby ‘ (B) smswb whmb Qeusrafl
(C) @by wHmib $&7LD (D) &eoeur wpmid NG gerensv
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79.  The brothers Harihara and Bukha served under the Hoysela king

M ViraBallala IT . (B) Narasimhan II
(C) Billiama - VI (D) None

anflan wHpib Lést sGansisdr aps Gapmisrer ysflb vaflyfibseani
(A)  efpuramenr I1 . (B) prélowen 11

(C) Gevemon VI (D) ergIeyD @ama

80. Who has assumed the title Badushah?

W Babur (B) Akbar

(C) Shahdahan (D) Aurangazeb

Unglegn eTe UL L G5 @145 Danam et wimi?
(A)  umufr (B) =isum

(C) agrgmanmen (D) gemrss

81.  All the arteries are carrying oxygenated blood except

J Pulmonary artery

"(B) Femoral artery

(C) Bronchial artery
(D)  Alucolar Artery

@8 swaflenu sefly Siwansg swailsEsn gavailaven o drar Qusssms rHEH Aadfing
(A)  uveawerfl swefl

(B) YGGwryed swefl =i

(C) Qgrandlwe gwefl

(D) et sweafl
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82.

83.

Find out the scientific name of the economically important plants :

(a) Cotton ] Curcuma Domestica
(b)  Turmeric 2 Withania soninifera

(¢) Ashwagandha 3. Gossypium Herbaceum
(d) Indian Rosewood 4 Camellia sinensis

(e) Tea 5 Dalbergia latifolia

(a) (b) (c) d (e

3 1 2 5 4
B) 3 I 2 4 5
© 3 2 1 e
D) 3 4 05 2 1

Gar@ésiu’Berer ummpentsny wédwggdub Qubp srakisae siflefiwd Quwfaer sewrL_iHl .

(a) wmss 1. si@wr QL mosuig&m

(b) * wEpear 2. dgreflur Cemblaf@uirym

(©)  SeveushHHT 3 srélwib QaniGudluin

(d) @ndwurCrravey 4. QaGwallwur ensenanendlen
*(e) Csullenaw 5 Lreurgur Gang CumeSlwim

(a) (b) (c) (d) (e)

A) 3 1 2 5 4
B) 3 1 2 4 5
© 3 2 1 5 4
M) 3 4 5 2 1 '
The highly resistant bodies produced within the cells of certain gram positive bacteria are
(A) Granules L (B) Globules
W Endospores (D) Plasmid
Sl flymd urflge unse lurssafla 2 Man@b s adiiy s46 Qsram_ QUL sarmens)
(A)  Agreywdser (B)  @Cermywcvsar
(C) eraCGLmevGuimiser (D) Qerrevibl_
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84.

85.

86.

No indicator is suitable for the titration of

(A) Strong acid Vs strong base
(B) Strong acid Vs Weak base

\M Weak acid Vs weak base

(D) Weak acid Vs Strong base

eThS BDRISTL g u|d LIWISTUL TS Quli)unﬁggcb

(A)  audlenw g sillebd Vs auallenwn smid

(B) euslleno 1@ 2illeoib Vs audllenn @enp &b
(C) eauddlenwn @ap sibled Vs cudlleno @enp &b

(D) adlen Gan sblewd Vs ausdlens Wll@ sy

The increasing order of lattice energy of the following NaF, NaCl, NaBr, Nal is
(A)  Nal > NaBr > NaCl > NaF @ Nal < NaBr < NaCl < NaF
(C) NaF > NaBr > NaCl > Nal (D) NaBr < Nal < NaF < NaCl

SlemeumeuaeumieT Ugs Hméd ifafseh cuflemswurag NaF, NaCl, NaBr, Nal
(A) Nal > NaBr > NaCl > NaF (B) Nal < NaBr < NaCl < NaF
(C) NaF > NaBr > NaCl > Nal (D) NaBr < Nal < NaF < NaCl

Whieh Year Tiangong—1 was launched by China?
(A) 2010 2011

(C) 2012 (D) 2013

gwrensmi—1 erenm efl@rQeuafl Hlevawib apg e Fammeurd geuliulL g?
(A) 2010 (B) 2011
(C) 2012 (D) 2013
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87.

88.

89.

How much time the stomach takes to tell the brain that it is full and that one should stop

eating?
(A) 5 minutes (B) 10 minutes
(C) 15 minutes M 20 minutes

auldp apupenowns @mUueamsub 2 ey o Gandareuens Fmgs Gewweyb epmersg CQzfaiss
ereucuaray Cuy a(HSEE Qamardng?

(A) 5 BB ruser (B) 10 Fifl_raser
(C) 15 SlAlruser (D) 20 AL riuser

How many years sun takes to complete one revolution round its galactic centre, called

cosmic year?
(A) 550 million years - (B) 450 million years
(C) 350 million years \V 250 million years

SigmL eupLLb (cosmic year) eren e&sULBL eflamean T _WF®S MWD SHNUSHE
@flwen er(HEHE QETeTEHid ST THHMEN e (H&eT
(A) 550 Wlevedlwen e (HEeT (B) 450 Weediwsen sy earHaser

(©) 350 Bvellwen syam@saT (D) 250 Boeuian syemRae

How many pilots were commissioned in first batch of female fighter pilots?

@ 2 9

© 4 D) 5

Queir Gunit eflwrafisafien pse Asr@Hulle asgmen ellwrafiser flulléasiuLant?
A 2 B) 3
© 4 D) 5

33 MAGS/2018
[Turn over




90.

When was the Tamilnadu state Human Rights Commission established?

(A) 17" April 1991 (B) 17 April 1994

M 17 April 1997 (D) 17t April 1996

wailg o_flevwo spab sl pEm o erl@urups o HeaurssiulLg?
(A) 17 guge 1991 (B) 17 gupe 1994

(C) 17 guge 1997 (D) 17 glpe 1996

91. Which country in the world to use gross national happiness to measure the progress of the
country? :
(A) India (B) Bangladesh
(C) Sweedan M Bhutan
ews prpaafed aps 510 ABET g waCappsas sansdbasieE Qurss Cafiu wélpaslaw
Lwentu (B ssidng ?
A) @bdur (B) umsamCses
(C)  eveliar (D)  yLmen
92. How many world Heritage sites in India are recognised by UNESCO in the year 20167
(A) 15 (B) 25
W 3 (D) 45
Qpflureilen arssmer o ws ummbufiy sersd o dagns madu prisaflen swefl, =ibleflwe
e () fipeuend (UNESCO) 2016 b yetmg b siriuSsilggiereng;?
(A) 15 (B) 25 .
(C)y 35 (D) 45
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93. Fermentation is similar to

(A)  Aerobic respiration

\V Anaerobic respiration

(C)  Photosynthesis

(D) Transpiration

Uprdlssd @ene Geaamurarsmew
(A)  smHm& seunsid

(B) ampbleonsd seursib

(€C) qaflECaisens

(D)  BorelluCGuiées

94. Government of India was legalised the Medical termination of pregnancy (MTP) in

Mgn (B) 1998

(C) 2001 (D) 2006

@pHwu sirsmiussgTd erL@UTIYE STILE s LD @uHDULLL 5?

(A) 1971 (B) 1998

(C) 2001 D) 2006
95. Which year National service scheme was introduced?

(A) 1964 (B) 1967

M‘wss D) 1972

BrC® peoiuef] S b arhg swar® Sdapsiiu@ssiuc L g?
(A) 1964 (B) 1967
© 1969 . (D) 1972
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96.

97.

Regur soil is highly suitable for the cultivation of

(A)  Sugarcane

(B) Rice

fair weir @UUURL_g@&@ Blsab 2 5Hs8

(A) sy
B) Gpe

(C) QGamembd
D) umsd

Bhakra — Nangal project is
(A) a project of Punjab
(B)  ajoint venture of Punjab and Haryana

(C) ajoint venture of Punjab, Haryana and Himachal Pradesh

Ma joint ventrue of Punjab, Haryana and Rajasthan

U&TT BRuse UL orears)

(A)  emuepenl wrble S b

B)  em ugssn wHPIL apfwrent wrble sl SLb

(C) emuegesri apflwrenm wHmb Gurssw AyGses wrfle sl H b

(D) e ueEssn, apfluret wHH FrEavSTen Wl sl { H o
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98. Einstein’s photoelectric equation is

(A)  hy =—;— muv* B) hy,=hy +71)- muv®

-

\V”}' =hy, +% mu? D) 2hy=hr+mv’

menavie aflar gaflblen swearun(®

1 2 1 2
(A) hy= 5 mu B) hy,=hy +—2— muv
(C) hy=hy, +—;— muv* (D) 2hy=hry+mv?

99. If the earth steps rotating suddenly, the value of ‘g’ at a place will be
M increase (B) decreases

(C)  becomes zero (D) remain unchanged

L spmieus HieQrarn lenm ML, @5 GLSdlen ‘g’ e WS eTemanaum(GLD
A) ofafseo (B) Geoyb
(C) &sPwrb (D) wrprdméen

100. The upper limit of the troposphere is called

Ml‘ropopause (B) Stratopause

(C) Ozonosphere ‘ (D) Exosphere

¢ GrrCumeviQwifien G erdene @eucuny SienpssluBaAng
(A) LGprCGumumen B) evlgrGLmumen

(C) Csren 2HES D) er&Genmen Glwir
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